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2022
( June/July )

ZOOLOGY
( Core )

Paper : C-8

( Comparative Anatomy of Vertebrates )

Full Marks : 53
Pass Marks : 21

Time : 3 hours

The figures in the margin indicate full marks
for the questions
1. Fill in the blanks of the following :
(a) Horn is a derivative of ____
(b) Teeth are absent in __
(c) Cutaneous respiration is foundin

(@)

pairs of cranial nerves are found
in fishes.

(e) Urinary bladder is absent in
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(2)

2. Prepare notes of any two of the following :
S5%2=10

(a) Succession of kidney in mammals

(b) Types of uteri in mammals

(c) Visual receptors in man

3. Discuss the derivatives of integument in
mammals. S

Or

Djscuss the functions of integument.

y Discuss the types of dentition in different
groups of animals. 6

5. Write about the accessory respiratory organs
in fish. 8

Or

Compare and contrast the pectoral girdle of
bird and mammal.

\%( Enlist the similarities and dissimilarities of

brain in Amphibia and Mammalia with
labelled diagram. Add a brief note on cranial
nerves in mammals. 8+3=11
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(3 )

Or
A

Write the comparative account on the
alimentary canal of man with suitable

diagram. Add a brief note on digestive gland
in fishes. 8+3=11

Compare the heart of reptiles and mammals

or reptiles and birds with suitable
illustrations. - 8

% %k Kk
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2022
( June/July )

ZOOLOGY
( Core )

Paper : C-10

( Biochemistry of Metabolic Process )

Full Marks : 53
Pass Marks : 21

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Fill in the blanks of the following : 1x5=5

(a) The net gain of ATP during the
conversion of one glucose molecule to
pyruvate is ATP molecules.

(b) The breakdown of is often coupled
with the metabolic reactions of
biosynthesis and breakdown.

(c)

nos. of ATPs are formed during

complete oxidation of a palmitate
molecule. '
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(2)

of conversion of amino
keto acids is called )

electrons

(d) The pI‘OCESS
acids to alpha-

(e) In electron transport,
ultimately pass to

any two of the

2. Explain precisely on o

following

(a) Definition of coupled reaction with

example
(b) Pyruvate dehydrogenase complex
(c) ATP as energy currency of cell

(d) Inhibitors of respiratory chain

s on any two of the

3. Write short note
4x2=8

following :

(a) Malate—aspertate shuttle

t{if)/ Gluconeogenesis \0

(e)/ Oxidative deamination ' \
(d) ATP synthase

4/ What is TCA cycle? Describe briefly the
reactions of TCA cycle with its energetics. 1+7=8

Or
escribe the pentose phosphate pathway of

carbohydrate metabolism ’
arb and 1
significance. = lt(:is-i-Q-B
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(3)

5/What is Beta oxidation? Describe the
mechanism of Beta oxidation of fatty acid. 2+6=8

Or (é "’%‘i"c‘k

What is ketogenesis? Describe the reaction
pathway of ketogenesis. 2+6=8

j Describe the process of urea biosynthesis
and write the significance of the urea cycle.

How is urea cycle linked with TCA cycle?
4+2+2=8

Or

What is transamination? Describe the
mechanism of transamination and its
significance. 2+6=8

7/ What is ETC? Explain the structural
components ETC in mitochondria. 2+6=8

Or

Distinguish oxidative phosphorylation and
substrate-level phosphorylation. Write about
the Chemi-osmotic theory. 3+5=8

K+gi5=
=

* % &

>
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[ Skill Enhancement Course ]
VERMICOMPOST TECHNOLOGY
Paper : SEC 4.1/6.1

Full Marks : 40
Pass Marks: 16

Time : 2 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct answer : 1x4=4

(@) The chemical used for protecting
vermi-bed from ants is Chloramphenicol

/ DDT / Chlorpyridphosphate.

(b) Vermicompost is an inorganic fertilizer /
synthetic fertilizer / organic manure.

(c) Usually nitljoéen, phosphorus and
calcium / zink, aluminium and iron /
carbon, potassium and nickel are found
in earthworm cast.
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(2)

(d) Perionyx excavatus / Eudrilus eugeniae
| Pheretima posthuma is not used for
vermicomposting technique.

2. Write notes on any four of the following :
6x4=24

—faJ Role of earthworm in agriculture
5{15?" Objectives of organic farming

—r<7 Nutrients in vermicompost

(d) Diversity of earthworm in Assam and
their key to identifications

_—:;Ie}— Enemies and sickness of earthworm

3. How would you prepare a vermi-bed for
large-scale production? Write details of
harvest, transport and storage of the

products.” Also write on commercial
advantages of the products from this project.

\ | < ' £ 2+7+3=12
% ‘@ﬁﬂ Or

Differentiate between : 6x2=12
(a) Vermicompost and inorganic fertilizers
(b) Vermi wash and vermin

* & &
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BOTANY
( Generic Elective )
Paper : GE4
( Plant Ecology and Taxonomy )

Full Marks : 53
Pass Marks : 2_1

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

1. 99 32 o[ ¥4 1x5=5
Fill in the blanks :
(@) ARG W@FO _ We[uEh |

The term ‘ecology’ was proposed by ;

(b) THEAGTE TE AP (& $-APTE
b Gol Twrse |

Phosphorus cycle is an example of
type of bio-geochemical cycle.
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(2)

(€) ___ O Tfem AR oog o fRfs 3 -
frerem =nsAeiRfeE |

proposed the classification of
plants based on sex organs.

(d) T Sfew CNERe s T4 b Tfenq
THIEI |

Pitcher plant is an example of
species of Meghalaya.

(e) TTaw Fwr =itq

Humus is always formed at the
layer of the soil.

AT g = |

2. @R A @ vReE evwe vYis e 2Yx4=10
Write on any four of the following in short :
(a) Sife PRFHIZ

Limiting factors

(b) WIEAH R [ B AR

Climax community

Xlgl Taew R afem

Binomial system of nomenclature

MW%W

Components of soil

22P/1313 ( Continued )
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(3)

&y T Uem Ay Aferier
Morphological adaptation of xerophytes

\{f/ iR, 5. @71.-9 @ ©g
Principles of ICN

3. TS Al (@) WA (b)7 IR G fer o 8x2=16

Write explanatory notes on either (a) or
(b) of the following :

(@), () c=TFET TN A

-

'/

Shelford’s law of tolerance
\/;ﬁf’cwwﬁa 7

Taxonomic hierarchy
.

(b) (i) =N HF TFET 519

Bentham and Hooker’s
classification

(i) A {om

Pyramids of number

4. @ zefer war | TR IRERz B
eraifieq = fer o 2+5+3=10

Define endemic species. Write the causes of
endemism. Name three endemic plant
species with family found in Assam.
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(4)

M@ﬁm fer SRm cf-Remme wm gy
T forn o

2+10=12
What is herbarium? Write its role in plant
taxonomy. '
Y241 / Or
oo TR T=ER Gt e 6x2=192

Write explanatory notes on the following :

[ TTT G W AT e ety

Differences  between artificial and
natural system of classification

S e fream @il e

Taxonomic evidences of cytology in
identification

* ok K

o+ &+
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2022
( June/July )

ZOOLOGY
( Core )
Paper : C-9

( Animal Physiology : Life Sustaining Systems )

Full Marks : 53 '
Pass Marks : 21

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Fill in the blanks with appropriate words : 1x35=3
N &

-1

(cy/ Renin helps in digestion of

(bl -t-units of haemoglobin are composed of
of amino acids.

@/The basic functional unit of kidney is

(dy ____ prevents the process of clotting of
blood. :

(e)/Ma_]or portion of CO, is transported as
in human body.
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( 2)

2. Write briefly on any two of the following : 4x2=8
o

(_E)/,-Carbun monoxide poisoning

(b) Tubular reabsorption

(g/Cardiac cycle

(d) Regulation of heartbeat

3." Answer any two of the following : 4%x2=8 -
(a}, Write a note on hormonal control of jf*

gastrointestinal tract.

(P}/ Write about the different components of
blood and their functions.

fc) Write about the regulation of acid-base
balance.

Or

. : %Vﬁat do you mean by absorption? Describe 7
the process of absorption of [ carbohydrate

and proteins. 2+3¥3=8

4. Describe about the oxygen dissociation
curves and factors influencing it. 4+4=8 -

-

Or

escribe the mechanism of O, and CO, ,
transport by blood. What do you mean by ¢
respiratory pigment? 6+2=8

- 22P/1284 ( Continued )



